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Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory. All other questions carry 12 marks each.
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Write briefly on the following types of poticies issued in Burglary Insurance - 4 each
i}: “Full value Policies

~ii)  Declaration Policy
iiiy Floating policies

. iv} Valued policies
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A proposer with an income of Rs. 10,000 per month wants a Personal

~accident policy, including temporary total disablement, for a sum
insured of Rs. 25,00,000. Write a. detaxled reply explaining the relevant
issues.
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Also, advise him about the various extra free benefits and the add-on
covers for which additional prémium has to be paid.
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a)  List out the various factors which are considered as important, while
'underwriting a money insurance policy.
- b) Which extensions are available under the above policy? _ 4
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Write short notes on any three of the following.

. a) Diseases excluded in Domiciliary Hospitalization Insurance

.b)  Student Safety Insurance

¢) - Tertiary care Insuranee

d) - Special Contingency Insurance
e) - Customs Bonds
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Enumerate the exclusions which appear in the mediclaim insurance policy.
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a) Mention general exclusions applicable to Videsh Yatra Mitra pblicy.
b) Explain corporate Frequent Traveller endorsement.
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What is the task undertaken by an Investigator after his appointment by
the insurance company and recexpt of Claim form, in a Fidelity Guarantee _
Insurance claim.
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Specify the cover avallable under the secuon I and II of the Jewellers
block insurance policy.

What is the basis for classification of risks under the above policies,
for the purpose of rating?
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A personal accident policy has been issued for sum insured of = 3 each

fiRs. 2,00,000. The insured person dies in an accident. It was however '
" noted that there was an earlier claim for TTD in another accident, -
" which was settled for Rs. 16,000. o

What would be the amount payable in respect of the death claim?

A money policy has been issued with per carrying limit of

Rs. 20,00,000 and the estimated annual carrying of Rs. 3 crores. One

day, due to urgency, Rs. 25 lacs had to be withdrawn. The same were

stolen while in transit. What would be the amount of claim payable?

A loss of Rs. 60,000 occurs in a 25% busglary first loss insurance

policy with a sum insured of Rs. 50,00,000. The value of property at

risk at the time of loss was Rs. 1.50 crores. What would be the amount

of claim payable? .

A floater Fidelity guarantee policy has been issued with a sum insured

of Rs. 40,00,000 covering 50 persons. The premium rate is 1% with

per capita loading of Rs. 10 each. What would be the premium

amount?
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Mention the risks covered in Horse Insurance policy.
Mention exclusions appearing in Horse Insurance policy.




